Year 11 Transition Lesson 1
Surds



Need to know facts: Surds

SURDS INDICES RATIONALISING THE DENOMINATOR

\/axb = Vva XV b _\/; =a1/2 1_ multiply \/_a
\/;x -\/a_ - da 1 3
S ° 1 " b - Va
a _ Va by b —/a
Vb ~ b b+ a




Examples (if needed)

1) Simplify: V48
2) Simplify: V48 + 27
3) Simplify: (V5 + 2)(3V5 - 1)

4) Rationalise the denominator of:
a) 3 b) 4

VT 2 -5

c)

4+ 5
2 -5




Further Examples (if needed)

5) Write 22 as a power of 2
6) Simplify a) V13.5 b) V0.25

7) Find the area of a right angle triangle with base V3 + 2 and height V5 - 1
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Bring answers to the following for first lesson in

September!
(4)m

With working out!!!

Challenge: C4
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Questions or Problems

Email lucy.tyler@svf.org.uk if any further issues.
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